

Confidentiality Requested:

Yes No

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1204262

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15	
Name:			Spot Description:	
Address 1:			Sec	TwpS. R
Address 2:			Feet	from North / South Line of Sectio
City: St	ate: Zip	D:+	Feet	from East / West Line of Section
Contact Person:			Footages Calculated from Ne	earest Outside Section Corner:
Phone: ()			□ NE □ NW	☐ SE ☐ SW
CONTRACTOR: License #			GPS Location: Lat:	, Long:
Name:				g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27 NAD27	
Purchaser:			County:	
Designate Type of Completion:			Lease Name:	Well #:
New Well Re-	·Fntrv	Workover	Field Name:	
	_		Producing Formation:	
☐ Oil ☐ WSW	SWD	SIOW	Elevation: Ground:	Kelly Bushing:
☐ Gas ☐ D&A ☐ OG	☐ ENHR	☐ SIGW ☐ Temp. Abd.	Total Vertical Depth:	Plug Back Total Depth:
CM (Coal Bed Methane)	G3W	iemp. Abd.	Amount of Surface Pipe Set a	and Cemented at: Fee
Cathodic Other (Core	Expl etc.)		Multiple Stage Cementing Co	
If Workover/Re-entry: Old Well Inf				Fee
Operator:				nent circulated from:
Well Name:			, ,	w/sx cm
Original Comp. Date:			loot doparto.	
	_	NHR Conv. to SWD		
Deepening Re-perf. Plug Back	Conv. to GS		Drilling Fluid Management F (Data must be collected from the	
Commingled	Permit #:		Chloride content:	ppm Fluid volume: bbl
Dual Completion	Permit #:		Dewatering method used:	
SWD	Permit #:		Location of fluid disposal if ha	auled offsite:
☐ ENHR	Permit #:		One water Name .	
GSW	Permit #:			
				License #:
Spud Date or Date Rea	iched TD	Completion Date or		TwpS. R
Recompletion Date		Recompletion Date	County:	Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

Page Two



Operator Name:			Lease Name:			Well #:	
Sec Twp	S. R	East West	County:				
open and closed, flow and flow rates if gas to Final Radioactivity Lo	ving and shut-in pressu to surface test, along w og, Final Logs run to ob	ormations penetrated. Dures, whether shut-in pre with final chart(s). Attach otain Geophysical Data a or newer AND an image t	essure reached stati extra sheet if more and Final Electric Lo	c level, hydrosta space is needed	tic pressures, bott d.	om hole tempe	erature, fluid recovery,
Drill Stem Tests Take		Yes No	L	og Formatio	on (Top), Depth an	nd Datum	Sample
Samples Sent to Geo	ological Survey	Yes No	Nam	е		Тор	Datum
Cores Taken Electric Log Run		Yes No					
List All E. Logs Run:							
			RECORD Ne				
	Siza Hala	Report all strings set-o	1			# Cooks	Type and Parcent
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONAL	CEMENTING / SQL	IEEZE BECORD			
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Type of Cement	# Sacks Used	ELECTION ID	Type and P	ercent Additives	
Plug Off Zone							
Does the volume of the		n this well? aulic fracturing treatment ex submitted to the chemical o		? Yes	No (If No, ski	p questions 2 and p question 3) out Page Three o	
Shots Per Foot		N RECORD - Bridge Plugootage of Each Interval Peri			cture, Shot, Cement		Depth
	- Cpany			, , ,			23,500
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or ENF	HR. Producing Meth		Gas Lift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil B	bbls. Gas	Mcf Wate	er B	bls. G	as-Oil Ratio	Gravity
Vented Sole	ON OF GAS: d Used on Lease shmit ACO-18.)	Open Hole Other (Specify)	METHOD OF COMPLE Perf. Dually (Submit A	Comp. Cor	nmingled mit ACO-4)	PRODUCTIO	ON INTERVAL:



LEIS OIL SERVICES



1410 150th Rd. • Yates Center, Kansas 66783 • (620) 212-0752

Operator License #: 30345	API #: 15-001-30929-00-00		
Operator: Piqua Petro, Inc.	Lease: Shannon		
Address: 1331 Xylan Rd, Piqua, KS 66761	Well #: 5-14		
Phone: (620) 433-0099	Spud Date: 3-14-14 Completed: 3-17-14		
Contractor License: 34036	Location: SE-NE-NW-NW of 16-25-17E		
T.D.: 877 T.D. of Pipe: 868 Size: 2.875"	830 Feet From North		
Surface Pipe Size: 7" Depth: 22'	1300 Feet From West		
Kind of Well: Oil	County: Allen		

LOG

Thickness	Strata	From	То	Thickness	Strata	From	To
3	Soil and Clay	0	3	4	Lime	779	783
11	Lime	3	14	27	Shale	783	810
125	Shale	14	139	1	Lime	810	811
21	Lime	139	160	11	Oil Sand	811	822
7	Shale	160	167	5	Broken Shale/Sand	822	827
60	Lime	167	227	57	Shale	820	877
67	Shale	227	294				
75	Lime	294	369				
7	Shale/Black Shale	369	376				
26	Lime	376	402				
4	Black Shale	402	406				
33	Lime	406	439				
171	Shale	439	610				
15	Lime	610	625				
65	Shale	625	690		T.D. of Pipe		868
4	Lime	690	694		T.D.		877
5	Shale	694	699				
12	Lime	699	711				
4	Shale	711	715				
5	Lime	715	720				
5	Shale	720	725				
4	Lime	725	729				
27	Shale	729	756				
8	Lime	756	764				
1	Shale	764	765				
4	Lime	765	769				
5	Shale	769	774				
3	Black Shale	774	777			· Q.	
2	Shale	777	779			- 10	



266708

LOCATION Eureka FOREMAN STAVENCE

FIELD TICKET & TREATMENT REPORT CEMENT

DATE	CUSTOMER#	WELL NAME & NUMBER		SECTION	TOWNSHIP	RANGE	COUNTY
8-19-14	4950	Shannan \$5-14				Allen	
USTOMER	Petraleum			TRUCK#	DRIVER	TRUCK #	DRIVER
IAILING ADDR	Petraleum			485	Chrism	,	
13	31 Xylan	39		515	Colbx		· Vince
ITY		STATE ZIP CODE		637	Jim		1
Piqua		KS 66761				4	
DB TYPE 4	15 0	HOLE SIZE	HOLE DEPTH	877'	CASING SIZE & W	EIGHT	• .
ASING DEPT	H_868'	DRILL PIPE	TUBING2	8		OTHER	
LURRY WEIG	нт	SLURRY VOL	WATER gal/s	k	CEMENT LEFT in	CASING	
ISPLACEMEN	IT 5665	SLURRY VOL	MIX PSI PIL	900	RATE		
		ng: Rig up To Zing				W/ 5-00	hwater
ump 20	of Gel Flust	* SOUL WOTER Spo	ACRC. A	11x 1205/	5 60/40/	Pozmix (cement
		Gel + 1% cach					
		ace in 5661s Fr					
		Shut well'ir					
		pit. Jaba					
		, , , , , , , , , , , , , , , , , , , ,	- Harris	0 000	~		

Than	K	Vores
------	---	-------

CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401	1	PUMP CHARGE	108500	1085,001
5406	45	MILEAGE	4.20	189.00
1131	1205ks	60/40 POZMIN CEMENT	13.18	1581.60 V
MOA	600A	Kol Seal 5tges/sk	.46	276,000
111813	400 #	Gel 4%	.22	88.00
1102	100 A	Cacle 1%	.78	78.00
111813	200*	Gelflush	,22	44.60 2
5407	5.1670n	Formileago Bulk Truck	mic	368.00
55020	Zhr.	80 bbl vacuum Truck	90.00	180.00
1123	2500 Fallen	Crywater	17.30/1000	43.25
4402	Z	23/4 RubberPlags	29.50	5800

Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

Invoice

Date	Invoice #		
3/22/2014	1020		

Bill To	
Piqua Petro, Inc.	
1331 Xylan Rd	
Piqua, KS 66761	
riqua, KS 00701	

P.O. No.	Terms	Project
	Due on receipt	

Quantity	Description	Rate	Amount
	Drilling- Hammond E 66-14	6.25	6,950.0
1	Drill Pits	100.00	100.0
10	Cement for Surface	11.60	116.0
	Drilling- Hammond E 67-14	6.25	6,931.2
1	Drill Pit	100.00	100.0
10	Cement for Surface	11.60	116.0
	Drilling- Hammond E 68-14	6.25	6,937.5
1	Drill Pit	100.00	100.0
10	Cement for Surface	11.60	116.0
	Drilling- Hammond E 69-14	6.25	6,893.7
- 1	Drill Pit	100.00	100.0
10	Cement for Surface	11.60	116.0
	Drilling- Collins Bennett 15-14	6.25	5,550.0
1	Drill Pit	100.00	100.0
8		11.60	92.8
	Drilling- Collins Bennett 16-14	6.25	7,562.5
1	Mississippi Drill Charge	600.00	600.0
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
	Drilling- Collins Bennett 17-14	6.25	5,518.7
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
	Drilling- Collins Bennett 18-14	6.25	5,556.2
1	Drill Pit	100.00	100.00
8	Cement for Surface	11.60	92.8
	Drilling- Shannon 3-14	6.25	5,531.2
1	Drill Pit	100.00	100.00
8	Cement for Surface	11.60	92.80
94 *	Drilling- Shannon 4-14	6.25	7,543.75
1	Mississippi Drill Charge	600.00	600.00
1	Drill Pit	100.00	100.00
8	Cement for Surface	11.60	92.80
	Drilling- Shannon 5-14	6.25	5,481.25
	Drill Pit	100.00	100.00

Total

Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

Invoice

Date	Invoice #
3/22/2014	1020

Bill To	
Piqua Petro, Inc. 1331 Xylan Rd Piqua, KS 66761	

P.O. No.	Terms	Project
	Due on receipt	

Quantity	Description	Rate	Amount
* 8	Cement for Surface Shannon 5-14	11.60	92.8
7 -1	Drilling- Shannon 6-14	6.25	5,450.0
1	Drill Pit	100.00	100.0
8	Cement for Surface	11.60	92.8
50.	Drilling- Shannon 8-14	6.25	5,462.5
1	Drill Pit	100.00	100.0
8		11.60	92.8
	at 48	65.00	520.00
		,	
	*,		
	14		v."
		Total	\$85,687.9